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MnuTa Pirro 1200x600 MM,
4 kpenexXHbIX aneMeHTa
Ha nnnUTy - 5,55WT./M.KB.
) MnuTa Pirro 2400x1200MmMm,
. MnuTa Pirro 1200x1200Mm, . . . 11 KpenexXHbIX aneMeHTa
5 kpenexHbIX aneMeHToB Ha NNNTy - 3,821UT/M.K8.
R o Ha nNuTy - 3,47 WT./M.KB. R . . R
MnuTa Pirro 2400x1200Mm, MnuTa Pirro 2400x1200Mmm,
° ° e| 9 KpenexHblX aNeEMEHTOB ° ° ° o| 12 KpenexHbiX aNeMEeHTOB
Ha nnuTy - 3,12WT./M.KB. Ha nnuTy - 3,821WIT./M.KB.
MnmTa Pirro 2400x1200Mwm, . . MnuTa Pirro 2400x1200mwm,
¢ ¢ 10 KpenexHbIX 3NeMeHTOoB © ¢ | 13 KpenexHblX 3NeMeHTOB
Ha NNUTY - 3,47 WT./M.KB. d s Ha nuTy - 4,51WT./M.KB.
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